
1/20

%

   100%
COTTON

2 h

!

SERIA: .../...
firma@mebleokmed.pl

www.mebleokmed.pl (+48) 55 243 27 26

„MEBLE-OKMED” DEMKO - SPÓŁKA JAWNA

ul. Kolejowa 13, 14-500 Braniewo, POLSKA
  

SERIA: ../..

BLUSH BIURKO

V271224

767

BLUSH BIURKO

PL

1453

1600

mailto:firma@mebleokmed.pl
mailto:firma@mebleokmed.pl
mailto:firma@mebleokmed.pl
mailto:firma@mebleokmed.pl


2/20

+ PACZKA 1

3 2 11 13 9 6 12

7

2

8 10

1

1

5

4

14

4PP 21ZM18

4x13

W4 8ZM2

27ZM1BKD2 2
Ø8x60

29ZM1A

15x12

2NRM1

M6x10

26KD1KT1

8x35

1KK1

1TPP3

L=86

1LI1

8SG112S1 SP3

6x35

2 4ZWP1

⌀35/0mm

2KD1UGP 2KD1UGP

1LI2

N
L

[mm]

W

[mm]

T

[mm]
Q PACZKA

1 690 343 16 2 COLLI_1/3

2 1423 356 3 2 COLLI_3/3

3 696 100 16 1 COLLI_1/3

4 695 289 16 1 COLLI_1/3

5 696 309 16 1 COLLI_2/3

6 1600 670 22 1 COLLI_3/3

7 740 668 22 1 COLLI_1/3

8 696 329 22 1 COLLI_3/3

9 696 329 22 1 COLLI_3/3

10 1452 330 22 1 COLLI_2/3

11 1452 330 22 1 COLLI_2/3

12 1246 200 22 1 COLLI_3/3

13 696 309 16 1 COLLI_2/3

14 340 309 16 2 COLLI_1/3
WU

M4x25

2

L-747 L-555



3/20

01

12KT1

8x35

KT1

12ZM1A

15x12

ZM1A

!

ZM1A

8

ZM1A

ZM1A

ZM1A

KT1

KT1

ZM1A

13

ZM1A

ZM1A

ZM1A

ZM1A

KT1

KT1

5

ZM1A

ZM1A

ZM1A

ZM1A

KT1

KT1



4/20

02

03

W4

8

4x13

W4

W4

W4

ZWP1

ZWP1

W4

ZM1A

ZM1A

ZM1A

ZM1A

ZM1A

7ZM1A

15x12

12

1

1

4ZWP1

⌀35/0mm

ZWP1

W4

ZWP1

ZWP1

4KT1

8x35

KT1

KT1

3



5/20

16ZM1BZM1B

ZM1B

11

10

05

KT1

KT1

2X 4KT1

8x35

4ZM1A

15x12

14

04

ZM1B

ZM1B

ZM1B

ZM1B

ZM1B

ZM1B

ZM1B

ZM1B

ZM1A

ZM1A



6/20

KD2

TPP3

14

06

KD2 2
Ø8x60

1TPP3

L=86

ZM1A

KK1

I II III IV

TPP3

KD2

KD2

14

14

13

1KK1

45o 45o 45o 45o



7/20

07

4KT1

8x35

2ZM1B4ZM1A

15x12

9

ZM1B

ZM1A

ZM1A

ZM1A

ZM1A

KT1

KT1

08

9

14

14

1KK1

5

ZM1A

KK1

ZM1B

5



8/20

09

1KK1

10

8

5

13

9

ZM1A

KK1

10

2

2

LI1

2

180o

LI2

L-651

2LI

LI1

1LI1

1LI2

L-747

L-555

LI2



9/20

11

12

11

1KK1

ZM1A

KK1

3



10/20

13

12S1

S1

A

B
S1

S1

S1

S1

S1

S1

S1

S1



11/20

14

11

SG1

SG1

SG1

SG1

SG1

!

PL

L
6SG1

SG1

11-15 15-2019-20

370

355

SG1



12/20

15

9ZM1B

ZM1B

2KT1

8x35

2ZM1A

15x12

2
M6x10

NRM1

NRM1

9

ZM1B

ZM1BZM1B 6

NRM1

NRM1

ZM1B

6

KT1
ZM1A

7

KT1



13/20

ZM1A

KK1

16

1KK1

17

ZM1A

KK1

1KK1

1

7

12

12
7



14/20

SG1

2SG1

SG1

SG1

18

19

ZM1A

KK1

7

12

6

7



15/20

20

SP3

6x35

2

SP3

1KK1

KK1

21

P
6SG1

SG1

14

10

SG1

SG1

SG1

SG1

SG1

!
370

355

SG1



16/20

22

9ZM1B

ZM1B

2KT1

8x35

2ZM1A

15x12

2
M6x10

NRM1

9

ZM1B

ZM1B ZM1B6

NRM1

NRM1

ZM1B

NRM1
6

KT1
ZM1A

7

KT1



17/20

ZM1A

KK1

23

1KK1

24

ZM1A

KK1

1KK1

6

7

12

12
7



18/20

SG1

2SG1

SG1

SG1

25

26

ZM1A

KK1

7

6

12

7



19/20

27

SP3

SP3

6x35

21KK1

KK1

11

28

PP

PP

4

4

4PP

20
kg

20
kg



20/20

ZM1

1

1

21ZM1

29

Ø5

UGP

UGP

WU

WU

8ZM22KD1UGP WU

M4x25

2


	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7
	Strona 8
	Strona 9
	Strona 10
	Strona 11
	Strona 12
	Strona 13
	Strona 14
	Strona 15
	Strona 16
	Strona 17
	Strona 18
	Strona 19
	Strona 20

